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Multiplying a 2-digit number by a I-digit number
Multiplying a 3-digit number by a I-digit number
Dividing a 2-digit number by a I-digit number
Dividing a 3-digit number by a I-digit number

Week 2 - Multiplication and division cont.
Solving problems — division
Perimeter and area
Perimeter of a rectangle
Perimeter of rectilinear shapes
Counting squares

Week 3 - Fractions
Tenths and hundredths
Equivalent fractions
Simplifying fractions
Fractions greater than |

Week 4 - Fractions cont.

Adding fractions

Subtracting fractions

Calculating fractions of a quantity
Solving problems - fraction of a quantity

Week 5 - Decimals
Tenths

Dividing by 10
Hundredths
Dividing by 100
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Week 6 - Decimals cont.
Writing decimals
Comparing decimals
Ordering decimals
Rounding decimals

Week 7 - Money

Pounds and pence

Ordering amounts of money

Solving problems - pounds and pence
Solving two-step problems

Week 8 - Money cont.
Solving problems — money
Rounding money

Line graphs
Charts and tables

Week 9 - Geometry - angles and 2D shapes
Comparing and ordering angles

Identifying regular and irregular shapes
Classifying triangles

Classifying and comparing quadrilaterals

Week 10 - Geometry angles and 2D shapes cont.

Lines of symmetry inside a shape
Completing a symmetric figure

Geometry - position and direction
Describing position
Drawing on a grid
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maths problem.
Don't look at
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until you have
had a go! The
third and fourth
pages give you
practice, so you
can check your
understanding.




Lesson 1

Adding fractions

Discover

I have eaten
% of my pizza.

I have eaten £ of
my pizza.

0 a) What fraction of pizza have Kate and Luis eaten in total?

b) Kate’s friends drmk o of a litre of juice.
Luis’s friends drmk o of a litre of juice.

How much juice do they drink in total?

52

[ share S

a) Kate has eaten %‘ of
her pizza.

Luis has eaten % of
his pizza.

I used a fraction
strip to represent
the pizzas. Then
I rearranged the
sections on a
number line to

10 10 10 10 10 10 10 10 10 II0 10 10

& of a litre + 7 of a litre = | & litres

Kate’s and Luis’s friends drink L5 6 lltres in total.

4, (5.6 (T 8 49 5

10 10 10 10 10 10

‘ You can wnte your answer as a mixed )
- number (I ) or an improper fraction ( )j

N



Lesson 1

Adding fractions

0 Tino the horse eats :. of a bale of hay on Monday. He eats § of a bale
of hay on Tuesday.

e Alexis runs % km, she has a rest and then runs a further % km.
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What fraction does Tino eat altogether?

wj— =

0T
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Tino eats C]

wilw =+

oa

i

IFNE

bales of hay.

How far does Alexis run in total?
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Alexis runs

()

8

km in total.

ol +

o= -+

2w + —

i

oG 1+ b—d

o Work out the following calculations. I could draw a

Give your answers as improper fractions. fraction strip

to help me.
s L) ya,a,e [
°)4+4_[:] ) o |o+|o‘C]
g el

B

S|

f) 8 ninths + 5 ninths =

+
I

(a)
~
N

Match the calculation to the correct answer.

6.3 1}
7 7 7
oS .
73 E
6,5 2
7 7 7
HEREEENENEEENEN
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Lesson 2

Subtracting fractions

Discover

0 a) Olivia uses % kg of spaghetti to make a meal.
How much spaghetti is left?

b) Does Olivia have enough spaghetti to make the same
meal again tomorrow?
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o
N— 1
ESE o
Nw -

I 2 3 I
i ' 13 2 2%
L L 1 L /] 1 | ]
I T Ll L) T T T 1
i) 2 3 . 2 3 X
0 4 4 4 ! 1% % 1% 2 2%

I used a fraction strip to represent
the spaghetti and then crossed
out 2 to see what was left.

2;kg-2kg=17kg
There are | 2 kg of spaghetti left.

b)

0

s— 1
NN
Nw ==
NN

12kg-3kg=2kg

Olivia has enough spaghetti to make the same meal
again tomorrow.




Lesson 2

Subtracting fractions

“ Last week Rusty the dog ate 2 i?c'j kg of dog food. This week he

ate 3 kg less than last week.

How much dog food did Rusty eat this week?
NSNS EEEEEEEEEEEEEEEEE

| ot
o jLq2i3 &.5.6,7 8.9

258 gilis oy

L2 3 & 5.6 7 & 3 142802 1 84d 5 5152, 6.5/
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b LA

O

Rusty ate kg this week.

e Cross out part of the fraction strip to help you work out the answer
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to31-%

‘
L L 1 1 I 1 1 1 1 1 L l 1 L 1 | ¢ ]
l 1 | Ll 1 T T Ll L] | ) 1 L 1 T L 1
0 1 2 3 4 5 6 7 8 a o o2 13 14 15 16
5 5 5 5 5 5 5 5 5 5 5 5 5 5
3l _4_
5 5

e‘ Complete each calculation.

7 3
[ o

alg-3
} + t i
0 | 2

I 5

b =3=--=

) 99
T T Y KA B N WA 1 1 | NV S TN SN T WO T | TR TN WY TR SN N T 1 ]
| L S G B | LN B TR B FL T L L B L B B 1
0 | 2 3 4

SEEE—
9 29_3_9_ I will do the

subtractions in a
different order to make

this easier to work out.
W

e Millie has 2 ; litres of juice. Each day Millie drinks g of a litre of juice.

a) How many days will the juice last?

! I : : i I ! l I 4 1 1 X 1 l

0 | 2

Millie has enough juice for [:] days.

b) How much juice is left over?

There is of a litre of juice left over.
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Lesson 3

Calculating fractions of a quantity

‘ Discover

The largest doll is
24 centimetres tall.

b12345678 lnIIﬂBKElinthn]nEzﬁDth

@ a) The smallest doll is % of the height of the largest doll.
How tall is the smallest doll?

b) The middle doll is % of the height of the largest doll.
How tall is the middle doll?

60

ED

a) The largest doll is 24 cm tall.

I will split my fraction strip
into 8 sections because I
need to work out é.

24 cm
|

3 SRIE3 A R3UE 3| B3 1EINIRIN 3

|-
©

3cm
24 + 8 = 3, so the smallest doll is 3 cm tall.

b)
24 cm
[ : 1
lels]e]s]2]5]5]
T Lo p
9cm e
24:8=3,505=3cm : i
| .
3x3cm=9cm,s03=9cm IfIkpow§.|s3cm,I§an3
multiply this by 3 to find 3.
The middle doll is 9 cm tall. .
6l



Lesson 3

Calculating fractions of a quantity

@ Emily has three different-sized teddy
bears - a small teddy bear, a medium

teddy bear and a large teddy bear.
The large teddy bear is 42 cm tall.

a) The small teddy bear is % the height of the large teddy bear.
How tall is the small teddy bear? 42 cm
|
S O O
LI_J
?cm

The small teddy bear is D cm tall.

b) The medium teddy bear is ; the height of the large teddy bear.

How tall is the medium teddy bear?

-3

-

I
?cm

The medium teddy bear is D cm tall.
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@ Complete each question. Qﬁ

a) %of30m=C]m
b) §of27kg=[:]kg
<) %of£I8=£D

@ Is this statement true or false?

\ J

3of24=40f36

Show your working out and circle your answer.

% N

\ J

@ Match each calculation to the correct answer.

2of I8 I5
sof I8 7
2of 18 2
rof 18 12
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Lesson 4

Solving problems - fraction of w

a quantity
a) There are 200 g of jam left in the jar.

I-/ I think there are 3 lots of
this amount in a full jar.
200g

jam left

200 g x3=600g

| T2 There are 600 g of jam in the jar when it is full.

b) % of the block of cheese is left.

This means that Reena has eaten % of the block.

I know that 2 parts
represent 60 g of cheese.

0 a) There are 200 g of jam left in the jar. ? 60g
= f ' —1—  60:2=30

30 | 30 30x3=90

b) Reena eats 60 g of cheese.

2 of the block of cheese is left.

How many grams of jam are in the jar when it is full? !l

How many grams of cheese are left?
64

There are 90 g of cheese left.
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Lesson 4

Solving problems - fraction of
a quantity
o a) Amelia has completed % of her maths homework.

How many questions in total does Amelia need to complete?

I have answered 3
questions so far.

L

3 questions

=)=

Amelia has to complete D questions in total.

b) Amelia has learnt % of her spellings homework.

How many spellings does she have to learn in total?

I have learnt 12
spellings so far.

12 spellings

e )= ]

Amelia has to learn C] spellings in total.

66

e a) %of a number is 15.

What is the number?

The number is C]

b) éof a number is 48.

What is the number?

The number is C]

e A box contains some buttons.

%of the buttons are taken out.
There are 24 buttons left.

How many buttons were
there at the start?

There were buttons at

the start.

o Ethan has some money.

He gives 3 of the money to his
friend.

He has £12 left.

How much money does he give
to his friend?

Ethan gives £D to his friend.

¥
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